Nuclear Gravity (-GmM/r²)Exp(mα/Mr): One stone two birds 

Vs Newton's Gravity (-GmM/r²) And Vs Einstein's Gravity (-GmM/r²) + k/(r²)²

By Professor Joe Nahhas

Abstract: Nahhas' force (-GmM/r²)Exp(mα/Mr) or the nuclear gravity force is the crudely approximated Newtonian gravity force (-GmM/r²) explains planetary motion around the sun as a rotating ellipse with a rotation rate φ = [π m/(m + M)](180/π)(36526/T)(3600) = 43.03 seconds of an arc per century for the most talked about planet of mercury; m = 3.2 x 10^24 kg; M = 2x10^30 kg;T = 88days

For 350 years and a million Physicists Astorphysicists Mathematicians Engineers and all others solved the Newton's-Kepler's Equations wrong

With d²(mr)/dt² – (mr)θ'² = -GmM/r²      Newton's Gravity Force    (1)

And d(Wim²r²θ')/dt = 0                           Kepler's Areal Velocity     (2)

With a solution: r = [a(1 – ε²)/(1 + ε cosine θ)] Newton's Equation solution

And θ' = h/r²                                                       Kepler's Equation Solution

The correct solution:

Nahhas' solution: r(θ, t) = [a(1 – ε²)/(1 + ε cosine θ)] Exp [λ (r) + ỉ ω (r)] t

And rotaion rate of

W° (ob) = (-720x36526/T) {[√ (1-ε²)]/ (1-ε) ²]} [(v° + v*)/c] ² degrees/100 years

T = period; ε = eccentricity; v° = spin velocity effect; v*= orbital velocity effect

In general v* = v* (p) + v*(s) and v° = v° (p) + v° (s); p = primary; s= secondary   

And v* + v° = 48.2 km/sec; ε = 0.206; T = 88 days; c = 300,000 km/sec

W° (ob) = 43.11''/century; W° (observed) = 43.11''

The new correct solution contains Newton's-Kepler's particle mechnics and Quantum wave mechnics in one equation and Einstein's relativity deleted.

However; planetary motion and its most talked about planet orbit of mercury's rotating ellipse and its rate of advance of perihelion can be explained as a nuclear gravitation force and not as a Newton's gravitational force or Einstein's space-time confusion of force or any other force and this new gravitaton equation is:

With d²(mr)/dt² – (mr)θ'² = [-GmM/r²]Exp(mα/Mr) Nuclear gravity Equation (1)

And (m²r²θ')/dt = 0                                                    Kepler's Areal   Velocity (2)       

Solution: 

All there is in the Universe is objects of mass m moving in space (x, y, z) at a location 

r = r (x, y, z). The state of any object in the Universe can be expressed as the product 

S = m r; State = mass x location: 

P = d S/d t = m (d r/d t) + (dm/d t) r = Total moment 

   = change of location + change of mass

  = m v + m' r; v = velocity = d r/d t; m' = mass change rate

F = d P/d t = d²S/dt² = Total force

   = m (d²r/dt²) +2(dm/d t) (d r/d t) + (d²m/dt²) r

   = m γ + 2m'v +m" r; γ = acceleration; m'' = mass acceleration rate

In polar coordinates system

r = r r (1) ;v = r' r(1)  + r θ' θ(1) ; γ = (r" - rθ'²)r(1) + (2r'θ' + r θ")θ(1)

r = location; v = velocity; γ = acceleration

F = m γ + 2m'v +m" r

F = m [(r"-rθ'²) r (1) + (2r'θ' + r θ") θ (1)] + 2m'[r' r (1) + r θ' θ (1)] + (m" r) r (1)

  = [d² (m r)/dt² - (m r) θ'²] r (1) + (1/mr) [d (m²r²θ')/d t] θ (1) 

  = [-GmM/r²] r (1)   ------------------------------- Newton's Gravitational Law

Proof:

First r = r [cosine θ î + sine θ Ĵ] = r r (1)

Define r (1) = cosine θ î + sine θ Ĵ 

Define v = d r/d t = r' r (1) + r d[r (1)]/d t

              = r' r (1) + r θ'[- sine θ î + cosine θĴ]

              = r' r (1) + r θ' θ (1)

Define θ (1) = -sine θ î +cosine θ Ĵ;

And with r (1) = cosine θ î + sine θ Ĵ

Then d [θ (1)]/d t= θ' [- cosine θ î - sine θ Ĵ= - θ' r (1)  

And d [r (1)]/d t = θ' [-sine θ î + cosine θ Ĵ] = θ' θ (1) 

Define γ = d [r' r (1) + r θ' θ (1)] /d t

              = r" r (1) + r'd [r (1)]/d t + r' θ' r (1) + r θ" r (1) +r θ'd [θ (1)]/d t

            γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1)

With d² (m r)/dt² - (m r) θ'² = -GmM/r²   Newton's Gravitational Equation     (1)

And d (m²r²θ')/d t = 0                              Central force law                              (2)

(2): d (m²r²θ')/d t = 0 

Then m²r²θ' = constant; if m is taken as constant then r²θ' = h

And (1): d² r/dt² - r θ'² = -GmM/r²      

Let m r =1/u

Then d r/d t = -u'/u² = - (1/u²) (θ') d u/d θ = (- θ'/u²) d u/d θ = - h d u/d θ

And d² r/dt² = -hθ'd²u/dθ² = - hu² [d²u/dθ²]

With d² (m r)/dt² - (m r) θ'² = -GmM/r²   Nuclear Gravity   (1)

And d (m²r²θ')/d t = 0                              Central force law                              (2)

-hu² [d²u/dθ²] - (1/u) (hu²)² = -GMu²[ 1 – (αm/M)u]; αm/Mr << 1

Or (d²u/ dθ²) + (1 – Gmα/h²)u = GM/h²

And u = [GM/ h²]/[1 – Gmα/h²] + A cosine {√ [1 - Gmα/h²]}θ 

And  r = 1/u = 1/{[GM/ h²]/[1 – Gmα/h²] + A cosine {√ [1 – Gmα/h²]}θ}

           = [1 – Gmα/h²]/M/ h²]/{1 + ε cosine {√ [1 - Gmα/h²]}θ 

 Where [1 – Gmα/h²]/GM/h² = a (1 – ε²)

And [1 – Gmα/h²] = (GM/h²)a (1-ε²)

If α = a (1 – ε²), the h² = G(m + M) a (1- ε²)

Then Gmα/h² = Gma(1 - ε²) /G(m + M) a (1- ε²)

                     = m(m + M)

With   r (θ, 0) = [1 – Gmα/h²]/M/ h²]/{1 + ε cosine {√ [1 – Gmα/h²]}θ

Then   r (θ, 0) = a(1 – ε²)/{1 + ε cosine {√ [1 – Gmα/h²]}θ

And    r (θ, 0) =  a(1 – ε²)/{1 + ε cosine {√ [1 – m/(m + M)]}θ    

And m << M; √ [1 – m/(m + M)] ≈ 1 - m/2(m + M)

With {√ [1 – Gmα/h²]}θ ≈ [1 - m/ 2(m + M)] θ

If θ = 2π, Then 2π [1- m/2(m + M)] = 2π - 2π [m/2(m + M)] 

With r(θ,0) =  a(1 – ε²)/{1 + ε cosine  [θ – mθ/2(m + M)]}

Then r(θ,0) =  a(1 – ε²)/[1 + ε cosine  (θ – φ)]

And φ = mθ/2(m + M)

With θ = 2π, then φ = 2πm/2(m + M) = πm/(m + M) radians/second

Multiplication by 180/π, then φ = 180m/(m + M) degrees/second

Multiplication by (36526/T), then φ = [m/(m + M)](180)(36526/T) degrees/century

Multiplication by 3600, then φ = [m/(m + M)](180)(36526/T)(3600) seconds/century

With Planet Mercury: m = 3.2x10^24kg; M = 2x10^30kg 

Then φ = [3.2x10^24/2x10^30](180)(36526/T)(3600) seconds of an arc per century

And φ = 43.03426909''/century

Planet Mercury 43" seconds of arc per century elliptical orbit axial rotation rate

Einstein has a similar equation

With d² (m r)/dt² - (m r) θ'² = -GmM/r² + k/(r²)² Einstein's Space-time     (1)

And d (m²r²θ')/d t = 0                              Central force law                       (2)

With r(θ,0) =  a(1 – ε²)/[1 + ε cosine  (θ – φ)]

And φ = [6πGM/ac²(1 – ε²)]radians/secondx(180/π)(36526/T)(3600)=43.03''

Newton's forec -GmM/r² if corrected to [ – GmM/r²] Exp (mα/Mr) gives exact solution without make-believe 20th century confusion of physics unless you have been to time travel buss station of a 1956 live Elvis show! Then I will bow

Then φ (Venus) = [43.03''][T/2T(Venus)] = 8.426826168''

And φ (Earth) = [43.03''][T/2T(Earth)] = 5.184''

The advance of perihelion of Venus and Earth never been measured but badly approximated and deduced and the reason for that is the very small value and Venus looks like a star and not a planet. For centuries Astronomers are yet to have reliable data of Venus like its rotation velocity. In recent years astronomers gave 6.5 km/sec for its rotational speed from its light spectrum; however, V= 2πr/p; r = venus radius and p = Venus rotational period comes to few meters per seconds and not few kilometers per second indicating indicating 400 years of astronomy that claims to know how the Universe was born and how it will end when the have no clue the speed of a planet that can been seen 24/7 from satellites.
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